BJ214 PRAER4E

RaNS

M1 73 S ESEST

) IMAO

Mz PR 24T
(HisEH SERTLE)

|
‘ NS
@ [ Teasc
M — | EAEK
M=%
£l = M L1 Hi| H W M L M2 P ﬁfg%
BJ214-08001 |M 6X1 30 7 |13 19 |M 8X1.25| 10 M5X0.8-42L 7 40
BJ214-10001 |M 8X1.25| 40 85| 165 | 22 [M10X1.5 | 12 ' 8 75
BJ214-12001 |M10X15 | 50 |11 |21 24 |[M12x1.75| 15 Mex1 -20L 9 | 120
BJ214-16001 (M12X1.75| 60 | 12 |23 30 |M16X2 20 12 | 210
ERRGIRERGE
A7 X EARET

(RIRER D HEREEE)

m
|
)

EVERERNHRT.

ERENNAEERT, L.

{ERER T PRI <EEFE
O FBAFREEEPIRL I RIFBS .
@ A FF 75 E A A R FE PRI AR B T 1] o
O BEIM 7R EIRET R L HEs .
5 =

EERIRGLE MR ER .



